Diszkrét

Nevezetes eloszlasok

Név

.| Eloszlas

Varhat6 érték
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Bernoulli
(indikator valtozd)
X~I(p)

PX=1)=p

PX=0)=1-p

Binomialis
(visszatevéses mintavétel)
X~ B.(p)

HX=@=U)fO-m”’

k=0,1,2,...,n
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Geometriai
(k-adikra kdvetkezik be A)
X~G(p)

P(X=k)y=p-(1-p)*",
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Negativ binomialis vagy
Pascal

(k-adikra kovetkezik be
me-edszer A)

X~ Nbw(p)
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AL

Hipergeometriai
(visszatevés nélkiili
mintavétel)

X~Hg(N. M, n)
M<N, nsinin{M, N-M}
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k=0,1,2,...,n

Poisson
X~PN
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X~E(,2, .., n)
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Abszolut folytonos

Név

Striiségfiiggvény

Eloszlasfuggvény

Vérhato értek

Szoras

[a,b]-n Egyenletes
X~ Ula,b]
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Exponencialis
X ~ Exp(A)
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x>0

F(x)=1-e™> x>0
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Cauchy
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Gamma

r,(41),a,A>0
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x>0

a = _ >0
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Gauss - Normalis
X~Nu, &)
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f(x)= 1/2—171'_0'
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Standard normalis
X~N@O,1)
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O(x) = ldsd a tablazatot!

Pareto

X~Pa,B) o>083>0

f(x) = Ba? /5"

ha x>

F() = [ £t

6>1

Beta

X~B(a,b) a>0,b>0
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flx)= Bla.b)
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O=sx</
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f=x =

F(x) = j F(t)dt, x>0
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Student t

=X ~t(n)

VZ/n y~N(O, 1)
Z~x(n) fotn!

0, han>2

=

n-2 , han >3

Fisher F
X< Y/n ~F(n,m)
Z/m N
Y~ x(n)
Z~x(m) fgn!
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